17. TIME AND DISTANCE

IMPORTANT FACTS AND FORMULAE
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4. If the ratio of the speeds of A and B is g : b then the ratio of the Limes Laken

; . 1
by them to cover the same distance is i, 3 o h:oa,
(14

b, Suppose @ man covers a certain distance al x km /hr and an equal distance at

¥ km / hr. Then, the average speed during the whole journey is r 2":? ] km/ hr,
L

SOLVED EXAMPLES

Ex. 1. How many minutes does Aditya take to cover & distance of 400 m, If he runs
&t & gpeed of 20 km /hr 7 (Bank PO. 2000)
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|
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Sol. Adityas speed - 20 km/hr - [Eﬂ:n o ey = o m./f soe,

Time iaken to cover 400 m = Isﬁl:l:r E-_-'w = T2 gop = 1IE Erif — I1 min
1 -5‘.'_1 Bl 5
Ex. 2. A cyclist covers a distance of 750 m in 2 min 30 sec. What is the speed in

km/hr of the eyclist 7 {R.R.B. 2002)

r ! i
Bol. Speed = | %l misee = fmisec = | Gx g] km{hr = 15 km/ hr,
1 I 1 ]

Ex. 3. A dog takes 4 leaps for every 5 leaps of 8 hare but 3 leaps of 8 dog are equal
to 4 leaps of the hare. Compare their spesds.
Sol. Let the distance covered in 1 leap of the dog be x and that covered in 1 leap of the

hare be ¥
Then, dx = 4y = = =%_-|.- = oy = %_}:
Ratio of speeds of dog and hare = Ratio of distances covered by them in the samp time

L+ 16
m dx:ly = — 0y = =:
Y 3 Y- ay 3

Ex. 4. While covering a distance of 24 km, o man neticod that aftar walking for

o= 16: 16

5
1 hour and 40 minutes, the distance covered by him was - of the remaining distance.

What was his speed in metres per second 7 {R.E.B. 2002)
Sol. Lt the speed be x ken /he

Then, distance covered in 1 hr 40 min. e, li hrg = r";f km.
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Ex. 5. Peter can cover & certain distance in 1 hr 24 min. by covering two-third of
the distance at 4 kmph and the rest st § kmph. Find the total distance,
S0]l. Lot the total distance be x km. Then,

2 1

-1 —-X "

!;LJ'Q-L"E [} %-ﬁ—én?:-l‘lﬂﬁz-ﬂ.
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i Total distance = 6 km.
Ex. 6. A man travelled from the village to the post-cifice at the rate of 26 kmph
and walked back at the rate of 4 kmph. If the whele journey took & hours 45 minotes,

find the distance of the pest-office from the village. (8.8.C. 2004)

Ea:r‘l [2x26x4 200
Bol. Average spoed [;? h:rrn'hr—lL ot kim f hr = km /hr.

4 29
Distance travelled in & hours 45 minutes ie, & hrs = I: 25 s E} km = 40 km.

Distance of the post-office from the village = = 20 km.

|

Ex. 7. An acroplane flies along the four sides of a square at the speeds of 200, 400,
800 and 800 km/hr. Find the avernge speed of the plane around the feld.
Sol. Let each side of the square be x km and let the average speed of the plane around

the field be ¥ km/ he Then,
= "‘":'l"l'i:-qi = S =1 _f:[w]_m_
00 400 800 B0y 2400 ¥ 25
Average speed = 354 km/ hr
§ :
Ex. B. Walking at 3 of its usual speed, & trafo i3 10 minutes too late, Find its usual
time to cover the journey.
5
Bol. Mew apeed = : of the wsual speed

New time taken = ; of the usual time

]

.'
Sa, % of the usual l.'rmcllr — (usmal time) = 10 min.

= ; of the usual ttme = 10 min =+¢ wgual time = 50 min
Ex. 9. [fa man walks &t the rate of 5 kmph, he misses a train by 7 minutes, However,
il he walks at the rate of 6 kmph, he reaches the staticn 5 minutes before the arrival

of the train, Find the distance covered by him fo reach the station.
Baol. Let the required distance be x km.

¥ 1
Difference in the Limes taken &1 two speeds = 12 min = 5 hr.
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5 0 ]
Hence, the required distance is & km
Ex. 10. A and B are two stations 390 km aparf. A train gtarts from A at 10 a.m.
and travels towards B at 65 kmph. Another train staris from B at 1] a.m. ead travels
towerde A of 35 kmph. At what time do they meef ?
Bel, Suppose they meet x hours afler 10 am. Then,
i Distanee moved by first in & hes) i [Distance moved by seeond in (x — 1} hrs| = 280,
G5z + Ip(x—1) = 3 = J00x = 435 = x = -'l%.
Sa, they meet 4 hrs, 15 min, after 10 am. je, at 215 pm.
Ex. 11. A goods train Jeaves a station at & certain time and at & fixed apeod. After
& hours, an express trafo leaves the same station and moves in the same direction at
a uniform speed of 80 kmph. This train catches up the goods trein io 4 howrs. Find
the speed of the goods train,
Bol. Let the speed of the goods train be x kmph.
Distance covered by goods train in 10 hours
= [listance coversed by exprese train in 4 hours
r=d = 90 or ¥ = 36
Ea, apeed of goods train = 26 kmph
Ez. 12. A thiaf is spotted by a policeman from s distance of 100 metres. Whan the

policeman starts the chage, the thief also starts running. If the speed of the thief be
& km fhr and thal of the policeman 10 km Shr, how far the ihiel will have run before

he is overtaken ?
Bol. Relative speed of the policeman = (10 — B} km /hr = 2 km Fhr

; .
Time taken by policeman o cover 100 m = Lil'::'.ﬂa ;] hr = é hr.

In = hrs, the thief oov firtnncy of | 8ok | e = i O 1
m 20 g (5] rEl AR O dhislancd o M o0 | = s

Ex. 18 I walk & certain distanee and ride back teking a total time of 37 minuéea.
I could walk bolh ways in 55 minutes, How Jong would it take me to ride both ways?

Bol. Let the distenee be x km. Then,
[Time laken o walk x km) 4 (Time taken to ride @ Em) = 37 min.
= [Time taken to walk 2x km) + (Time tiken to ride 2x kmi = 74 min
Rut, time taken Lo walk 2x km = 55 min
e Time takon to rde 2% km = (T4 55) min = 19 min

— — — — — — — — — —— —— — — — — — — W S R T T mm—— e e e e

EXERCISE 17
(OBJECTIVE TYPE QUESTIONS)

Directions : Mark (v") againet the correct answer :
1 A ear moves al the sgpesd of B0 km /he What 2 the speed of the car in metres per

gecond ? (Hotel Management, 2002)
{a) B m/epe (B} Eﬂ% m f sec il 22% m. /[ see [ Mone of these
2. Ap athlete runs 200 metres race in 24 seconds. His speed is5 : {5.5.C. 2002)

{a) 20 km / hr by 24 km /hr {¢) 25.0 km/ hr (g} 30 kom o
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‘Which of the following traing is the fnstest 7

(&)} 25 m/sac (B 1500 m/min (c) 80 km /hr {dy Mone of these
A person crosses n 600 m long street in 5 minules. What is his speed in km per hour ?
(a) 3.6 (b 72 () B4 {di 10

(R.R.B. 2003)
A man walking at the rate of 5 km / hr crosses a bridge in 15 minutes. The length of
the bridge {in metres) is : (8.5.C. 2000)
(a) 600 by 750 {eh 1000 (dh 1250
How long will a boy take to run round a square field of side 35 metres, if he runs st
the rate of 8 kon M hr 7 (5.5.C. 1909)
ial 60 sec b 52 sec (ch 5d sac (d) 56 sec
A car i running at & speed of 108 kmph. What distance will it cover in 15 seconds 7
ia) 45 metres (b} G5 metres (€} 450 motres
{(d) Cannot be determined {(e) None of these (R.B.1. 2003)

e of the two buses completas a journey of 300 km in ?% hours and the other a
journey of 450 km in 9 hours. The ratio of their average speeds 15 : (R.R.B. 2001)

®)2:3 M 34 ich4:5 (dr &:9

A truck covers a distance of 550 metres in 1 minule whereas a bus covers a distance
of 33 kms in 45 minutes, The ratio of their speeds is : (3.8.C. 2004)
{a) 3:4 ib) 4:3 {chd : & () 50 :3

The ratio between the speeds of two trains is 7 8. I the second train runs 400 kms
in 4 hours, then the gpeed of the st train s (I.M.T. 2002
{&) TO km /hr (k) 75 km /hr ic) 84 km /hr {d} 87.5 km / hr

A train travels at an average of 50 miles per hour for ‘-!% hours and then travels at

a speed of 70 miles per hour for lf; hours, How far did the train travel in the entire

4 hours 7 (IGHNOL, 2003)
[} 120 miles (b 150 miles () 200 miles () 230 miles

A man in a train notices that he can count 21 telophone poels in one minote. 17 they
are known to be 50 metres apart, then at what speed is the train travelling 7

(a) 5% km /hr (b} 57 ke /hr () 60 km /hr (d) B3 km / hr
Sound is said to travel in alr at about 1100 feet per pecond. A man hears the axe

striking the tree, % geconds after he sees it strike the tree, How far s the man from

the wood chopper 7 (M.B.A. 2002)
(@) 2197 fi by 2420 fr (] Z500¢ fL o) 220 i

An express train travelled at an average spesd of 100 km /e, slopping for 3 minules
after every 75 km. How long did it take to reach its destination 800 km from the
gtarting point 7 (M.A.T. 2003)
[a) & hrs 21 min {b) 6 hrs 24 min (&l & hre 27 min {d} & hrz 30 min
A certain distance is covered by a cyclist at a certain speed. If a jogger covers half the
distance in double the time, the rotio of the speed of the jezmer to that of the cyelist
ig :

(e} 1:2 (b 2:1 (g 1:4 idh 4 :1

A motor car etarts with the speed of 70 km / hr with its speed increasing every two
hours by 10 kmph. In how many hours will it cover 345 kms 7 (Bank RO, 2003)

(=) 2% v (b} 4 hrs 5 min id 1% hrs

(dl Cannot be determined (# Wone of these
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The speed of a car increases by 2 kms afler every one hour. If the distance travelled
in the lirst one hour wae 35 kms, what was the total distance travelled in 12 hours 7

{a) 456 kms (k) 482 kms (e} GR2 kma

(d) 556 kms ie} Mone of these (Bank PO, 2003)
A brain covers a distance of 10 km in 12 minutes. If its speed is decreased by 5 km/ hr,
the time taken by it 1o cover the same distance will be : (B.B.C. 1958)
L} 10 min () 11 min 30 sec (& 13 min [di 13 min M) sec

Anna left for city A from city B at 5.20 a.m. She trovelled at the speed of 80 km /hr
for 2 hours 15 minutes, After that the speed wis reduced to 60 km / hr If the distance
betwoen two cities is 350 kms, nt what time did Anna reach city A ?

{a} 920 am. (b 925 am, (cl 9.35 am.
{d) 10.05 am. (e Mone of thesp (Bank PO, 1999)
An aeroplane covers o certain distance at a speed of 240 kmph in 5§ hours To cover
the same distance in 1% hours, it must travel at a speed of : (8.8.C. 2000)
La) M kmph (&) 360 kmph (et 400 kmph id} 720 kmph

A salesman travels a distance of 50 km iz 2 hours and 30 minutes. How much fastor

in kilometres per hour, on an average, must he travel to make such a trip in % hour

less time 7 (Hotel Manugement, 2002)
(a) 10 (b 20 ded 30 () Mone of thess

A person has to cover & distance of 6 km in 45 minutes. If he covers one-half of the
distance in two-thirds of the lolal time; to cover the remaining distance in the
remaining time, his speed fin km / hr) must be (8.8.C. 19899)

La) & (b) 8 ich 12 {dl 15

4 17 :
A man performs 5 of the tolal journey by rail, a0 by bus and the remaining 6.5 kkm
on foot. His total journey is ;
[a] 65 km {5 100 km (&b 130 km fal 120 km

A can complete a journey in 10 hours. He travels firgt half of the journey at the rate
af 21 km / hr and second half at the rate of 24 km / hr. Find the total journay in km.

{a) 220 km (b 224 km (¢l 230 km id} 234 km
(Asgistant Grade, 1997

A person travels equal distances with speads of 3 km / hr, 4 km S hr and 5 km / he and
takes a lotal time of 47 minetes. The total distance (m km) i= - (R.E.B. 2001)

ta) 2 &1 3 fchd (d} &

A farmer travelled a distance of 61 km in % hours. He travelled partly en foot
@ 4 km/hr and partly on bicycle @ 8 km / hr The distance travelled an foot is ;

(a) 14 km (b1 15 km (e) 16 km {d) 17 km
(U.RS.C. 2002)

A iz fapter than B A and B cach walk 24 km. The sum of their speeds iz 7 km/hr
and the sum of times taken by them is 14 hours Then, A's speed is equal to :

{a} 3 km/hr (b 4 km i hr {ch 5 ken /hr idi Tkl hr
(I.AF 2002)

A person travels from P to Q at a speed of 40 kmph and returns by inecreasing his spoed

by G0%. What is his avernge speed for both the trips 7 (M.B_A. 2003)

(a} 36 Leph (b} 45 kmph {ch 48 kmph (d) 60 kmph
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A ear driver travels from the plains Lo the hill station, which are 200 ke apart at an
average speed of 40 km /he [n the return trip, he eovers the same distance at an
average speed of 20 km Shr. The average speed of the car over the ontire distanes of
400 km is :

{a) 25 km /hr (b) 26.87 km/he  {c) 2866 km/hr  (d) 30 ke /hr

Manc travels from A to B a distanee of 250 miles in E-lhrﬂ-url He returns to A in

2
4 hours 30 minutes. His average speed is .
{a) 44 mph (B) 45 mph (&) 48 mph {d) 50 mph
A boy goes to his school from his hewse at a speed of 3 km / hr and returns at a speed

of 2 km / ke, Il he takes 5 hours in going and coming, the distance between his house
and school is : {(8.8.C. 2004}

(a) 6 km (&) 5.5 km el & km {d) 6.5 km

The average speed of a train in the onward journey is 25% more than that in the return
journey. The train halts for one howr on reaching the destination. The total time taken
for the complete to and fro journey is 17 hours, covering a distance of 800 k. The
speed of the train in the onward journey is :

(a) 45 km / he (&) 47.5 km /hr {¢] 52 lom /hr () 5625 lem fhr

I started an my bisyels at 7 am. to reach a certain place After going a certain distance,
my bicvele went out of order. Conseguently, T rested for 35 minutes and came back to
my house walking all the way 1 reached my house at 1 pm. If my cyeling speed is
10 kmph and my walking speed is 1 kmph, then on my bicyele | covered o distance

of :

&1 4 = 3 10

— &) 13— km } - gy 1h=—
ll]iﬂhm 1] 2 [c l-iﬂi.'m ! T km

A, B and C are on a trip by a car. A drives during the first hour at an average speed
of 50 km/he B drives during the next 2 hours at an average speed of 48 km [hr
C drives for the next 3 hours at an average spesd of 52 km / hr They reached their
destination after exactly 6 hourz. Their mean spood was :

(&) 50 kam /hir (b m% T (el 51% ke (%2 % S

A man on tour travels first 160 km at 64 km J hr and the next 160 km at 80 km /hr
The average speed for the first 320 km of the tour is {R.R.B. 2003)
(@) 36.66 km /hr (b} 36 kx / he (o) TL11 ke / hr (d} 71 kmd hr

A boy rides his bicyele 10 km at an average speed of 12 km/hr and again travels
12 km at an average speed of 10 km/hr, His average speed for the entire trip is
approximately : (B.5.0. 19949)
(a) 104 kmJ hr () 1008 kmf hr {et 11 km 'hr (b 12.2 km/ hr

A man travels 600 km by train at B0 km /hr. 800 km by ship at 40 km/ hr, 500 km
by meroplane ot 400 km /hr and 100 km by car at 50 km /hr What is the average

speed for the entire distance 7 (8.58.0. 2000}
i ]

el — km /! hr
{al 60 km/hr (k) mli‘i km / hr (& &2 km / hr (.d) 55123

A ear travels the first cne-third of a certain distance with a speed of 10 km /hr, the
next one-third distance with a speed of 20 km / hr, and the last one-third distance with
a speed of 60 kom / hr. The average speed of the car for the whale journey is :

(a) 18 km /hr (b} 24 km /hr (c) 30 km /hr (d} 36 km/hr
{Civil Servicea, 2003)
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89. A motorist eovers a distance of 39 km in 45 minutes by moving at a speed of ¥ kmph

4T,

for the firet 15 minutes, then moving at deuble the speed for the next 20 minutes and
then again moving at his original speed for the rest of the journey Then, x is equal
L :

(a) 31.2 (k) 36 fel 40 {d)y 52

Mary jogs 8 km at a specd of & km per hour At what speed would she need to jog
during the next 1.5 hours to have an average of 9 km per hour for the entire jopging
sezsion 7

(a) 9 kmph (&} 10 kmph (e 12 kmph {e) 14 kmph

b .
A car travelling with S of {ts actunl speed covers 42 km in 1 hr 40 min 48 sec. Find
the agctual speed of the car (8.8.C. 2002)
L) IT% km / hr [b) 25 kma / hr {cd A0 kmn / hr (dy 35 km/ hr

T
A train running at 7 of its own speed reached a place in 22 hours. How much time
could be saved il the train would have run ot its own speed ?

(a2} 7 hours (b} 8 hours (¢} 14 hours id} 16 hours
A man can reach a certain place in 30 hours. If he reduces his speed by {:5'; th, he goes
10 km less in that time. Find hiz speed. (B.5.C. 2002)
(sl & km/hr () 5 lem Fhr (e E% ko / he (d) 6 km/hr
Walking glh of hie vzpal speed, 0 mon is 12 minotes too late. The usual time taken
by him Lo cover thal distance is : {(ER.B. 2001)
{2} 1 bour ibv 1 br 12 min. fed 1 hr 15 min. idi 1 hr 20 min
1

Starting from his house one day, o student walks at a speed of 2—2 Emph and reaches

his school 6 minutes late. Next day he increases his speed by 1 kmph and reaches the
school & minutes carly How far is the school from his house 7 (3.8.0, 2004)

{a) 1 km (b 1;-1:.“ (el 12 i () 2 km

A train when moves ab an average speod of 40 kmph, reaches its destination on time.
When its average speod bacomes 35 kmph, then it reaches its destination 15 minutes
late. Find the length of jowrmey: (Bank PO, 2003)
(&) 30 km (b} 40 km (&) 70 km {dy 80 km
Robaert ie travelling on hie eyele and has calculated to reach point A at 2 BM. if be
travels at 10 kmph; he will reach there at 12 noon if he travels at 16 kmph. At what
gpead must he travel to reach A at 1 PM, 7 (D.MR.C. 2003)
{a) 8 kmph (b 11 kmph (¢} 12 kmph {dl 14 kmph

If m train runs at 40 kmph, it reaches ite destination late by 11 minutes but if it runs
at 50 kmph, it is late by 5 minutes only The corroct time for the train to complete
its journey is ;

tal 13 min. ib) 16 min. (€] 19 min. (d) 21 min

A man covered n certain distance at seme speed. Had he moved 3 kmph faster, he
would have taken 40 minutes less. I he had moved 2 kmph slower, he would have
taken 40 minutes more. The distance (in km) is : (8.5.C. 2003)

(a) 35 (B 36% (@ 37% (d) 40
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A car travels from P to @ at a constant speed. If its speed were mereased by 10 km / hr,

it would have taken one hour lesser to cover the distance. 1t would have taken further

4% minutes lesser if the speed waz further inereased by 10 km/hr What is the

distance between the two ofies 7

(&l 420 km (B} 540 km (el GO0 km [dy G660 ke

A train can travel B0 faster than a car Both atart from paint A at the same time

and reach point B 75 kms away from A at the same time On the way, however, the

train lost aboul 12.5 minoles while stopping ol the stalions, The speed of the ear s

(a} 100 lemph (b} 110 kraph (g 120 keaph (dF 137 kmph
(MLA.T. 2008)

Excluding stoppages, the speed of a bus is 34 kmph and including stoppages, it is

45 kmph. For how many minutes deee the bus stop per hour 7 (N.I.ET. 2002)

(ah & {B] 10 (c) 12 (d) 20

A car covers a distanee of 715 km at a constant speed. [ the speed of the car would

have been 10 km J br more, then it would have Laken 2 howrs less Lo cover the same

distance. What is the original speed of the car 7

ia} 45 km [ hr {b} 80 lom f hr (c) 55 km fhr (d} 66 km ! hr

In covering a certain distance, the spereds ol A and B are in the ratio of 3 : 4. A takes
40 minutes more than B to reach the destination. The time taken by A to reach the
destination ig : (8.5.C. 1999)

{a} 1 hour ik 1; hemara (e 2 hours (el 2; hours

In covering & distance of 30 km, Abhav takes 2 hours more than Sameer [T Abhay
doubles his speed, then be would take 1 hour less than Sameer. Abhays speed is .
{a) & kmph tb) 8 kmph (el 6.25 kmph (d) 7.5 kmph
(M.A.T. 2003)
Three porzons are wilking from o place A Lo anelher place B Their speeds are in the
ratio of 4 = 3 : 6. The time ratio to reach B by these persons will be :
fa) 4:3:6 i 6:3:4 (eh 165 : 8- 20 ()} 15 : 20 : 12
With & uniform speed & car covers the distance in & hwurs. Had the speed been

inereased by 4 km / hr, the same distance could have been covered in T% hours. What

15 the distaner covered 7 [Bamk PO, 2003)
(&) 420 lem (b 480 km (¢ 840 km

{dl Cannot be determined (&) MNone af these

Two men start together to walk to a certain destination, one at 3 kmph and another
at 3.75 kmph. The latter arrives kalf an hour before the former. The distance is -
=) 6 km (b 7.6 km (ch 8 km (d) 9.5 km

If 2 person walks at 14 km /hr instead of 10 km he, he would have walked 20 km
more. The actual distanes travelled by ham e - (R.R.B. 2000)
L&) 50 km ih) 6B lom Led T keem (d) B0 km

In a fight of 00 km, an aircraft was slowed down duwe to bad weather. [ts average
speed for the Lrip was reduced by 200 km/hr and the time of Mighl increased by
#) minutes, The duration of the flight is : (M.A.T. 2002)

(&) 1 hour (k) 2 hours (ch 3 hours (d 4 hours

It takes eight hours for a 600 km journey, if 120 km is done by train and the rest by
car. It takes 20 minutes more, iF 200 km 18 dene by Yroin and the rest by enr The mtio
of the speed of the train to that of the car is : (3LD.A. 2001)

(g} 2 : 3 (By@: 2 led 354 (dr 4:3
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B2 A is twice a8 fast uz B and B is thrice as fust as C is. The journey covered by C in

Tl

54 minutes will be covered by B in ;

(a) 16 min ib) 27 min {¢) 38 min (d} 9 min

Twa men starting from the same place walk at the rate of 5 kmph and 6.5 kmgph
respectively What time will they take o be 8.5 km apart, if they walk in the same
dirsction 7

(@) 4 hrs 15 miin ib} 8 hrs 20 min (<) 16 hrs (d} 17 hrs

- A walks arcund a eireular field at the rate of cae round per hour while B runs around

it at the rate of six rounds per hour. They start in the same direction from the same
point at 7,30 am. They shall first erozs each other at - (Civil Bervices, 20:03)
{a) 7.42 am. (B) T48 am () 810 am. (d) 8.30 a.m.
A walks at 4 kmph and 4 hours after his start, B cycles after him at 10 kmph. How
far from the start does B eateh up with A 7
(a) 167 km (b 186 km {ch Z1.B km (d) 26.7 lkan
A thief is noticed by a paliceman from a distance of 200 m. The thief starts running
and the policeman chases him. The thiel and the policeman run at the tate of 10 kum
and 11 km per hour respectively, What is the distanee batween them after 6 minutes 7
(8} 103 m (B) 180 m () 180 m (d) 200 m :
. {B.8.C. 2000)
A thief slenls o cor at 230 p.m. and drives it a1 60 kmph. The theft is discovered at
2 p.m. and the owner sets off in another car at 75 kmph. Wher will he overtake the
thief 7 (R.R.B. 2002)
(a) 4.30 p.m. (bl 4.456 p.m. (ch 5 p.m. {d) 515 p.m.
Two guns were fired from the same place at an interval of 10 minutes and 30 seconds,
but a person in the Lrain approaching the place hears the second shot 10 minutes after
the first. The speed of the train (in km / hr), supposing that speed travels at 330 metros
per second, is :
{al 19.8 (b} 58.6 (&) 594 (dy 111,80
Two cyclists slart from the snme place in apposite directions. One goes towards north
at 18 kmph and the other goes towards south at 20 kmph. What time will they take
to be 47.5 km apart 7

(a) 1% hrs (b 2% re (¢) 2 hrs. 23 min,  (d) 2% hrs
The distance between two cibies A and B is 330 km. A train starts from A at 8 am.
and travels towards B at 60 km / hr Another train starts from B at 9 am. and travels
towards A at 75 km ./ hr. At what time do they meet ? (L.IC A A Q. 2003)
(8) 10 a.m. (&) 10.30 a.m, (el 11 am. (d] 1150 awm.
The jogging truck in o sporis complex is 726 metres in circumference. Deepak and his
wife start from the same point and walk in opposite directions al 4.5 km 'hr and
2,70 km /hr respectively, They will mesl for the first time in (M AT 2003)
(&) 4.5 min (B} 5.28 min ied 5.5 min {d) 8 min

- A and B walk around a circular track. They start at 8 am. from the same point in

the oppesite directions. A and B walk at & speed of 2 rounds per hour and 3 rounds
per hour respectively How many times shall thev erces each other before 8.30 am, ?
(&) & ib) & ek 7 id) 8

(LLRS.C. 2002)
Two cars P and Q start at the same tima from A and B which are 190 km apart. If
the two cars travel in opposite directions, they meet after one hour and if they travek
in same direction (from A t2wards B), then I meets § after 6 hours, What is the speed
of car P 7 (8.B.1.PO. 2000)
(al 80 kmph b 70 kmph (&) 120 kenph
id) Data inadequate e} Nene of these
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T4. Two trains starting st the same time from two stations 200 km apari and geing in
opposite directions eross each other at & distanee of 110 km from one of the stations,
What is the ratic of their spesds 7
(a) 9 : 90 (bl 11:9 (el 11 : 30 (d} Mome of these

78. Two traing start from P and Q respectively and travel towards each other at a speed
of 50 km /hr and 40 km ¢ hr respectively. By the time they meet, the first train has
travelled 100 km more than the second. The distance between P and @ is :

(a)} 600 ke (b} 630 km (£) BED km {d) 900 km
(8.8.C. 2000)

T6. Bombay Express left Delhi for Bombay at 14.30 hre, travelling at a speed of 80 kemph
and Rajdhani Express left Delhi for Bombay on the same day at 16,30 hrs, travelling
at a speed of B0 kmph. How far away from Delhi will the two traing mest 7
(&) 120 km (bl 360 km () 480 kem (d) 600 km

T7. A train M leaves Moorui at 5 a.m. and reaches Delhi at 9 a.m. Another train leaves
Delhi at 7 a.m. and reaches Meerut at 10,30 a.m. At what time do the two trains eross
each othor
{a) 7.6 am. (b T7.56 a.m. (g} 8§ pm. (d} B26 a.m.

T8, A man Lakes § hours 45 min. in walking to a certain place and riding back. He would
have gained 2 hours by riding both ways. The time he would take to walk both wavs,
is ;

(a} 3 hrs 46 min {b) 7 hra 30 min
{g) 7 hrs 46 min {d) 11 hrs 45 mm
ANSWERS
Lo 2. id 3. id 4 (b B. (dl 8. (d) T (a) B (e
8 dal 10, (a) 11 (a) 12 (e 13. (6 14 (8} 18 (&) 16. (e
17. (e 18, 0d) 10 (0 20.(d 21 (a) 22 (o 23 (d 24 (B
26.(B) 26.(c0 27 (b 28.(dd 29.(h B0.(d) 3L (s 3BL (D
. fa) M. (B 36 (00 IB.H IT. (D 3B (&) 30.(d 0. D
41 (d) 42, (00 48. (0 44 (b} 48 (c) 4B (0 47 (0 48 (D
48, () B0.(a) 5l (e 62 (b B3.(c) B4 (o0 BB (a) BB (d
E7. (&) G&6B.(a) B9.(a) @0 (a) 6L (cd &2 (o) B3 (d) Bd (&
BE. [d) BB [a) &7 (& G8. (¢ @9. (m) 7O.(c) Ti. (b T2, (0
T3. (b T4 (B} TE.(d) TE i(dd 9T.(a TA (d)

1. Speed = [EUH :—E] o/ eeE = % m/ e = ﬂﬂg ™ [ see,

9 Speed = % m/ pee = ‘!; m/see = [%H%J kmfbhr = 30 km/hr.

r
3 25 m/isec = ;25:%] kmihr = 80 km/ hr.
i,

And, 26 mfeee = (25 = 60) m/min = 1500 m / min.
S0, all the three speeds are equal.
18

4. Spesd = [mﬂ |m."5e: 2 m/sec = L:!J-c-_]km.-'h_r 7.2 km/hr.
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@ 25
5 = | B — ! = = 3
&, Spesd {?H' IE] m Bt 18 mf ser

Distance covered in 15 minutes = {Exlixﬁ-ﬂjl m = 1250 m.

8. Spesd = 0 km/hr = [B:—] m/sec = > m/sec.

Distance = (36 x 4} m = 140 m.
Time taken -[Hﬂx%]m= 5 e

7. Spoed = 108 kmph —[lﬂﬂx%] o/ ses = 30 m/see
Distance covered in 15 sec. = (30 = 15) m = 450 m.
&Hiﬁﬂi.ﬂ‘l]}l!ﬂdl -IFHEIII] 12] [4?]=‘ﬂ:5ﬂrdzﬁ
N |.'|

_ [ &&D _ 18)
0. Ratin of spoads = [EI 5J

10. Let the speeds of two trains be 7x and Sx km / hr.

100
e l=
[ %) 125

[MHEIZIJ-JE 44 = 31 4.

Then, Bz » EEE w i) = ==
Speed of first train = (7 x 125} km /hr = 7.5 km/hr
11. Tetal distanes travelled -[[Eﬂ#ﬂi;!l [?u:-c 1%” miles = (125 + 105} mules = 230 miles,

12. Number of gaps between 21 telephone posts = 20,
[hstance travelled in 1 mingte = (50 = 20) m = 1000 m = 1 km.
Spead = 60 lem /b

13. Detanee = []Hﬂl! -EJ feet = 2430 fi=el,

14. Time taken to cover GO0 km = [%J hrz = & hrs,

Number of sloppages = E?—;—] B
Taotal time of stoppage = (3 = T} min = 21 min.
Hence, total time taken = & hrs 21 min.
156. Let the distance covered by the cyclist be x and the time taken be v Then,

1
-
RN T
Required ratio o a
16, Distance covered in first 2 hours = (70 = 2) km = 140 km.
Diglance covered in next 2 hours = (80 = 2) km = 180 km.
Femaining distance = 345 — (140 + 160) = 45 km,
Speed in the fifth hour = 80 km/hr

ilml:ik

Timtlahnh:rmwriﬁhn-(;;]hr-—hr

1%
Total time taken = [2*21 b l% hira.
J



Twme and Distance 385

17, Total distance travelled in 12 hours = (35 + 37 + 39 + _ upio 12 terms),

This it an AP with first term, 2 - 35, number of terms, 0 = 12, commen differenca,
dwig,

Required distance = ITEI'EJ-;55+HH—HHEJ = 670 + 22) = 552 km.

18. Speed = [m:{%] km/hr = 50 kin/hr.

New speed = (60 — 5) km/hr = 45 km /hr

Time token = fE1| hr = [E:nc{'rl]lll min = 18> win = 13 min 20 sec.
LG B 2 3
18. Distance covered in 2 hrs 15 min e, 21 hri=[Hlu—}hri:-1&i] hirs.

%
JRilk = 180 e 17 bt
&l

" Time taken tn cover remaining distance -[~

=2%hn==21‘u‘r-ﬁﬂmin.

Total time taken = (2 hrs 15 min + 2 hes 50 min) = 5 hrs 5 min.
Bo, Anna reached city A at 10,25 om.
2. Dhstance = (240 = 5) km = 1200 km.
3
Required speed = [liﬂﬂxgj km/hr = 720 km/ hr.

21. Time required = (2 hrs 30 min = 50 min) = 1 hr 40 min = I; hrs.

Required speed = [Elfh-c EJ km/ihr = 30 km/hr.

Original spesd = [mqg] km/hr = 20 km/hr.
Difference in speed = (30 — 20) km/hr = 10 km /he
22. Remaining distance = 3 km and Remaining time = [%xd!y}minal&mu- : heur,

Required spoed = (3 % 4) km (hr = 12 km /hr
23, Lt the total journey be x km.
Th:n,%—*;;lﬁﬁ--l w lBxr+Te+ 20265 = By &= » = 130 km.

24. Let the total distance be x km. Then,

Lm sl 210 = —"iq-i 1)

= 16y = 168%20 = 1-[1—5%}-23]-2241:&
b ]
25. Lot the total distance be 3x ken,
i7 47x 47
Than, =5 . %, 25 -2 -
0 4B 86 T B0 m ™E=lk
Total distanee = (3 x 1} km = 2 kin
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Let the distance travelled on foot be x hm.

Then, distance travelled on bicwele = (61 — xi km.

s.u,farmT"ﬂ-g o3 Or+4(fl-x = Ou36 + Sr=50 s r=16km

. Let A's speed = x km /hr Then, B speed = (7 — 2} km 7hr

Sn.E+ -

r (T=x)

=4 e M(T-x+MHx=ldx(T=-2n

= 14 - G8x + 168 =0 &= 2 -—Tx+12=0
= X=3ix=4)=0 = Xx=3Jor x=4
Since, A is faster than B, so A's speed = 4 km/ hr and B's speed = 3 km/ hr

. Speed on return trip = 150% of 40 = 60 kmph

2% 40 = BO " 4800
Average spewd ( =it ]km}'hr |-. Imllcm.fhr 45 km/ hr

2w di) = 20 &0

. fAverage speed :[WJ lﬂ'ﬂ.lrhl:'z[E] e/ br = 2667 kml hr

4

ol

Speed from A to B -[zfm%J mpaa-[F

B

Speed Gty B s A -[Eﬁﬂrg] mph.[$] g
500 _ 500

B d e 500000
Average speed = —E—L‘—ﬁ'—g mph = [r—fﬁmﬁ] mph = 50 mph.
11 B

P d =|——— | kmafhr = — km/hr.
VErage Spee [ 522 ] B

Distance travelled = [IEE " IS] km = 12 km.

Distance batween house and zehoal -[%)m-ﬂhm.

Let the speed in return journey be x km/ hr
E Y

Then, speed in onward journey = %;—f:: = [I:J km/ hr.

T Mx
km/hr = % km /s hr

g 800 9
By — | =16 =] = — | = 45
[ g Iﬂx] = [15::1:1] ;

S0, speed in onward journey = [Eﬂﬁl km/hr = 5825 km/hr.

ﬁmitlklﬂ:ﬁ‘tl‘iiﬁ.ﬁlﬂl -%hﬂ.

Let the required distance be x km.

2 85 395 81
Than, 24 Z o 28 - L L L.
“ 0 1 13 1 e T
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A4. Totnl distanee travelled = (50 = 1 » 48 = 2 + 82 = 2) km = 302 km.
Taitnl time nkeon = & hre

Mean spopd = [¥| km/hr = !ﬂla km / hr.
F
160 160 g
" 1 = | — i | = = hrs.
35. Toinl time taken [54 3]“ 3
oy
Averape speed = [ZIE'D:-c éi km/ hr = 7111 km/he.
38, Total dizstance travelled = (10 + 12) km /hr = 22 kmi Fhre
. 10 12 Gl
& |=—+—| hrs = — hrs.
Total time taken [IE*‘ll}] bz 1 20 rE

ﬂﬂ] km/hr = 10.8 km/ hr.

Average apeed = [22:: o1
37. Tetal distance travelled = (00 + &0 + 500 + 1000 km = 2000 km.
Total time taken = [%-ﬁ%#%—%}hﬂu%hﬂ.
Aversgo spoed = [ntmx T;E} ko /by = [B::’;) Ay 55% -

38, Lot the whole distans: travelled be x kem and the average specd of the ear for the w bl
journey be ¥ km / hr.

(xf3 ixfBH (=f3) = E i x
+ 4 -= — e = '
Tom S0 t"30 80 "y 30 60 180 ¥
1
_—y =1 = = 18 km /hr.
L 133" ¥
aa, I!%fﬂ:x%r:x%nﬂg = Ef%'f%'ﬂ

=3 ix+ Hx+ 2x =468 = x= 08
40, Lot speed of jogging be x km e

Total time laken = [‘:* hrs + 1.5 hn\] = % hrx.

Total distance covered = (9 + 1.5x km.

9*;'5:-9 e Dollr=2T o gx-lﬂ - ::[M!—i]tlﬂkuﬁ:.
ﬂ-Timetahen:l]!:Iﬂminiﬂmc:1hriﬂ%mj.n-1%hm=%hm.
Lat the actual specd be x km / hr
Th-:n.;:::x%=¢:aur;=(“;’f—1:5}=mmm.
u.mm-speed-fl of usual speed.
Hmﬁmtl—:ﬂmﬂﬁme.
So, 4 of ususl time = 22 hrs = mﬂﬁm=[“”]=uhm

Hence, time saved = (22 — 14) = 8 hra.
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43, Let the speed be x km/ he Then,

EUF—MH%':-IFIE = =1l = =5 kmfhr

Itﬂwnmd:%ufmﬂmld.
Mew time = - of usnal time
1
I:E of usual r.imaj — {usual time) --;—hr.

] %-ﬂfuﬂuﬂtiﬂ:e:%hr = mdti.m.%hr-lhrl?min
45, Let the distance be x km.
Difference in timings = 12 min -%hﬁ'-%hn

by 2x 1 3
oS NP T ALY S =15 i,
G A i

46. Difference between timings = 15 min = %hr.

Let the length of journey be x km.
x x 1
Then, T iy b Bxr=Tx=T) = x=T0 km,
4T. Let the distance travelled be x km.

Thnm%—f—ﬁ-i o Sx-Bx =00 + x=60kmn

Timé Laken to travel 80 kom at 10 km /hr -ff—g] hrs = 6 hrs,

LY

S0, Robert started 6 hours before 2 PM. ie, at 5 AM.
Bequired speed - [-?L] kmph = 12 kmph.

48 Lot the eorreet time to complote the journcy be x min.
Drigtancy covered in (x + 11) min. at 40 kmph
= [Nistance covered in (x « 5) min. at 50 kmph

ﬂxﬂrﬂ:%xﬁﬂ = 1 =19 min

&0
49. Lot distanes = ¥ km and usual rate = ¥ kmph.
x- 3 40
e=rBat o — F 5 = O =
3 ot s T 2l
E x 40 g
- — [y = = ar -]
e‘m«ui.ll_2 > mwyyﬂ} i)

On dividing () by (i), we get x = 40 km,
50. Let distanee = x km and usual rate = ¥ kmph. Then,
. x

—_- 1o vip+ - )
i = ¥ip+ 10 = 10x L}
7 Blx :

T g s . Sk (v +20) = —
y 7% 1 af ¥y + 2 o i)

Cm dividing (6} by (i), we get 3 = 60
Substituting v = 60 in (i), we get : x = 420 km.
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b1.

B2

Let specd of the car be x kmph.

s (3
Then, speed of the train T [Er]kmph-

5 5 A

W™ o 125 . W 6O ,;[”‘"“J

x E:L’ 10 G x x ]
2

Due to stoppages, it covers 9 km lees,

Time taken to cover § km =[%!Eﬂ] min = 1 min,

53. Let the original epeed be x km /hr 'Lhmr

715 T
S I8 oo Wl 10T TS0 e R P A
4 x =10

= x+ 63 [x-—56)=0 & x=58 km/'hr

B4. Ratio of speeds = 3 . 4, Ratio of times taken = 4 - 3.

Buppose A takes 4x hrs and B tokes 3x hrs to reach the destmation. Then,

30 1 1
dr=3r = — = — = -
4 ) 2l:lll".'lf 3

Time taken by A = 4x hre -[-:lr%]hﬂ-—ihrt.

56. Let Abhay's spead be x ke hr

T’l-mnl'.!q--'a—u::] = Gx=30 = x =5 km/'hr

r B i
58, Kativ of speeds = 4 : 3 ¢ 5.
Hn:inufﬂmuuuktn-}:%:%=15:iﬂ:li

57. Lot the distance be ¥ km. Then,

% X iz =z

SiEay ey *

71 A = T = x = 480 km

-}
B8. Let the distonce be x km. Then,

X £ 1 aTe 15

R T Y =1 - e— gy ==

3375 5 = B 2 = 4Th & x 050 5 T5 km.
58 Let the actual distanes travelled be x kim. Then,

:—u-";‘:ﬂ' e ldx = 10c+200 e 4x = 200 = x = 50 km
60. Lot the duration of the flight be x hours. Then,

&0 600 G600 1200

v :.;..:aug o E:t+1_m e z(@x+l)=3

2
= IXerxr-3=0 o (Zr+3ix=11=0
= x=1hr [neglecting the - ve valus of x|

61. Let the speed of the train be x km /hr and that of the car be ¥ km/ hr

M,E+E-Earl+:-l’-—

I ¥ x r 15

200 400 25 1 2
—_— E e (i === =
&

f ¥ a i

And, <
24

= 120 kmph

adid)

A
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Solving (7} and {5}, we get x = 60 and v = B
Ratio of speeds = 60 : 80 = 4 ; 4,
62. Let C's speed = x km /hr. Then, B speed = 3x km /hr and A's speed = 6x ke / b,
Ratio of spoeds of A, B, C = Bx: 3x:x=6:3: L
Ratio of times taken -é.—%:l-]"ﬂ:ﬁ.
If C takes 6 min., then B takes 2 min
If C takes 54 min., then B takes [gnﬂi] min. = 15 min.

83. To be 0.5 km apart, they lake 1 hour

To be 85 km apart, they take [,DL,‘" 85| hrs = 17 hrs.
5 )

64. Since A and B move in the same direction along the cirde, so thiy will firet mect sach
other when there is o difference of one round between the Lwa,

Relative spoed of A and B = (6 = 1) = & rounds per hour,
Time taken to complote one round it thiz speed = %lu- = 12 min.

66. Suppose aller x km from the start B catches up with A. Then, the differonce in the
tame taken by A to cover x km and that taken by B to cover x km is 4 hours.

S e =z =367 km
4 10

B8, Relative speed of the thief and p'
oliceman = {11 - 100 km/ hr = 1 km/ hr,

¥
Distanoe sovered in B minutes =

lxﬂ] km = i km = 100 m,
&0 10
Distance botween the thief and policeman « (200 - 100) m = 100 m
67. Suppase the thief is overtaken x hrs after 290 pm
Then, distance covered by the thief in x hra

: i 1
= digtanee covered by the awner in k: - E] hrs.

Eﬂx—?ﬁ(:-l] = 15.1:=-1—5 e I:Ehﬁ.
- 2 2

So, the thiel is overtaken at 5 p.m.

68. Let the speed of the train be x m /sec, Then,
Distance travelled by the train in 10 min. = Distance travelled by sound in 30 sec
= xX1ixxal =330 %30 = x= 185

L]
Speed of the train = 16.5 ml'saen-—i]!i.!ikl:J km/ br = 59.4 km/hr
8. To be (18 + 200 km apart, they Lake 1 hour
To be 47.5 km apart, they take {'3.1?'““"] hes = 1% hrs.
T0. Buppose they mest x hre after 8 a.m. Then,
(Distance moved by first in x hra} + [[istance moved by second in (x = 1) hrs] = 330
Blx+ THlxr=11=330 = r= 3
'Bo, they meet at (8 + 3), ie 11 am.
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TlummemnmllmﬁtwhmthlrmTﬂmaplrt

T4.

75.

Te be (4.5 + 3.75) = 8.25 km apart, they take 1 hour

10 726 242
hrs =

aﬂa“mm} [rmu

Tnhe?EﬂmapamﬂEquu[ xﬁlﬁ]min=-53ﬂmin.

. Belative speed = (2 + 3) = & rounds per hour

S0, they eroes each other G times in an hour and 2 times in half an hour
Henee, they cross each other 7 times before 9.30 am.

. Let their gpeeds be x kmph and » kmph respectively.

120
x+y
Mow, when they mwve in same direction
(Distance travellod by P in 6 kre) — (Distanee travelled by Q in 6 hrs) = 120 km
= 6r—6r=120 = x-y-20 A1)
Solving (i) and (i), x =70, y = 50,
- s speed = T0 kmph.
In the same Hme, they cover 110 km and 90 km respectively
Batio of their apeeds = 110 : 50 - 11 : 5.
At the time of meeting, let the distance travelled by the second train be x km.
Then, distanes soversd by the firet tradn is (x < 100) km.
%:‘;‘m Sllx = 40x + 4000 = x = 400,

o, distance between P and @ = (x + x + 1000 km = 500 km.

Then, w1 = x4y =120 ]

. Buppose they meet x hours after 14.30 hrs.

Then, 60x = B0 (x — 2) or x = B.
Required distanee = (60 = 8) km = 480 km.

. Let the distance between Meerut and Delhi be x km and let the traing meet 3 hours

after T a.m. _
Clearly, M covers x km in 4 hrs and N covers x km in (7/2) hrs.

smufu=%mph.smnfn=%mph

Distance covered by M in (¥ + 2) hrs + Distance covered in ¥ hrs = x
fiy+2}+%::;.- o BESGIE G

4 7
14
P _T:ﬁbnn[%hcﬁﬂ]min_—ﬁﬁmin-

Henee, the trains meet a8 7.56 am.

. Lt the distance be ¥ km. Then,

(Time taken to walk ¥ km) + (Time taken to ride x km) =¥1m.

= (Time taken to wallt 2x lem) + (Time taken to ride 2x km) = % hrs,

But, time taken to ride 2x km I-Ehl'l.

Time taken to walk 2x km -[?*%J hrs -%hrﬁ = 7 hrs 46 min.
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EXERCISE 17B

(DATA SUFFICIENCY TYPE QUESTIONS)

Directions (Questions 1 te 7 : Each of the questions below consists of a statement
and/or a question and two sintements numbered [ and IT given below it. You have to
decide whether the data provided in the statements is/are sulficient te answer tho
gquesticn. Head both the statements and

Gzive answer (@) if the data in Statement I alone are sufMfieient to answer the
questicn, while the data in Statement II nlone are not sufficient to answer the question;

{Five anawer (b) if the dats in Statement II slone sro suffieiont to answer the
question, while the data in Statement I alone are not sufficient to answer the question:

Give answer (¢) if the data either in Statement [ or in Statement IT alone are
sufficieat to answer the gquestion;

Cive answer (d) if the data even in both Statements I and IT together are not
sufficient fo enswer the guestion: and

Give answer (@) if the dats in both Statements | and I together are Decessary Lo
angwer the question.

1. How much time did X take b reach the destination 7
I. The ratio between the speeds of X and ¥ i2 3 - 4.
II. ¥ takes 38 minotes fo reach the same destination.
2. Whal is the wsual speed of the train 7 (M.B.A. 2002}
L The speed of the train is increased by 25 km / hr o reach the destination 150 km
away in time.
Il. The train iz late by 30 minutes,
3. Two towns are connected by railway Can you find the distance between them ¥
I. The speed of mail train is 12 km/ hr more than that of an express train.
II. A mail train takes 40 minubes lesz than an express Lruin o cover Lhe distance.

(M.B.A. 2001)
4. The towns A, B and C are on a straight line. Town C i3 between A and B. The distance
from A to B is 100 km. How far is A from C 7 ({M.B.A. 2003)

I. The distance from A to B i 2%% more than the distance from C to B

1
ll. The distance from A w C is " of the distanee from C to B

8. What is the average spoed of the car over the entire distance ?
L. The car covers the whele distance in four equal stretches at speeds of 10 kmph,
20 kmph, 30 kmph and 80 kmph respectively:
I The lotal time taken is 36 minutes.
6. A car and & bus start from city A at the same time. How far is the aty B from aty
AT
I. The car travelling at an average speed of 40 km /hr reaches city B at 4:35 pm,
[I. The bus reaches city B at 6:15 pum. at an average speed of 60 km /hr
7. Two cars pass each other in opposile direction. How long would they take ta be
500 km apart 7 (M AT 1988)
L. The sum of their epeeds iz 136 ke /he
Il. The difference of their speeds is 256 km/ he

R e e e e e T e T S e e S e S — — — — T — .

ANSWERS
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SOLUTIONS
1L L IFY takes 4 min., then X takes 3 min.
B Y fako Bl T X talem '%13’5] i o7 e,

LY
Thus, T and [1 tegether give the answer,
& Correel answer is (el
2. Let the wsual gpeed of the train be x kmph.

Time taken to cover 150 ke at wiual spesd =ﬂ]ﬂ'ﬂ.
I
150

L Time taken at increased speod l!.':-bﬂ.ﬁ]

IL E_ 150 =E
x (x+25 &0
1 1 1
TTheE I * Hx =+ 25] — x| = 30 = x ix + I5)
= 2+ 2x-T500=-0 & (x+10D}ix-T6l=0 ++ x=76.
Thus, 1 and I1 together give the answear.
& Correct answer is (e
3. Let the distance between the two stations be x km.
I. Let the speed of the express train be v km/ he
Then, speed of the mall train = (¥ + 12) km Mhe

P .
IL. ¥ U.'r 1% ﬂ'ﬂ-
Thus, even [ and [1 togother do not give x
Correet angwer i ()

4. Let AC = x kem. Then, CB = (100 - x) km. -~ —& {100 - x B
L AB - 125% of CB
1 1000 32 1M
= lﬂﬂ-—lﬁxﬂﬂﬂ--:] = 1m-.:-—-r-gl-5- =680 4+ xw20km.

AC = 20 km.
Thus, | alone gives the answer

I, m:-i—cu - x-ii'!lﬂﬂ-x!l ol D0 520

AC = 20 km.
Thusz, Il alone gives the answer,
Correct answer 18 ().
B. Lot the whole distance be 4x lom.

: R P A D B S el el SR B
L Tutulumumk:n-[m ED+M*EE|]_ 0 S
Speed - = g BE kmph = 20 km/hr.

Time  (x/5)
| alone is sufficient to answer the question
Il alone does not give the answer.
Correct answer iz {(a).



404 Csantitative Aptitude

6. Let AB = x k. From I and II, we get :
& x 1!2

. Ve HEIS pm) = (435 pm) = 1 hr 40 min|
£ 2 1040 gl
0~ a0 Mg Mosgtex

% Correct answer is (.
T. 1 gives, relative speed = 135 km /hr
Time taken = Fmgh
Il does not give the relative speed.
I alone gives the answer and I1 {2 irrelevant,
Carrect answer is (m),



